




Plastic Handle

ID Plate

M2.5 x 0.45
Hex Nut

PC Board

M2.5 x 10
Filister Head Screw

Retainer Sleeve

M2.5 x 11
Captive Screw

M2.5 x 8 Flat
Head Screw

'L' Brackets  

M2.5 x 16
Filister Head Screw

www.vectorelect.com
PHONE : (818)985-8208  FAX : (818)985-7708

11115, VANOWEN STREET, NORTH HOLLYWOOD, CA-91605

3U-8HP

 'L' Bracket 
 Detail

Washer

Optional 
for 6U & 9U
High Panel

VECTOR  P/N# HD102
  

6U-8HP

.645

.170

.372

.340
.277

.285

.454

.240

.600

                

.630

A

B
2 x.123

2 x.123

2 x.294

2 x.294

Top Handle
only for 6U & 9U

.110 x .150
OBROUND

4HP Handle

8HP Handle

12HP ID Plate

Shown 12HP 
 Bottom Handle 

Configuration

  4 HP =   .7
60

  8 HP = 1.560

     
     

   4
HP + 8HP 

     
     

    (
2.360) 

IN349C

TOLERANCE : .XXX  .010
ALL DIMENSIONS ARE IN INCHES

12HP =



B

Ejector Knob

ID Plate

Captive Screw

Retainer Sleeve

'L' - Bracket
PC Board

Front Panel

IN399

0.075

0.120
0.235

0.559

0.945

0.465
0.563

0.174  THRU

R 0.170

0.150 RAD.

1.090

0.164

0.176

0.439

0.779

0.080

0.200 x 0.200 
CUTOUT

0.427

0.325

0.509

0.166

0.159

0.222

0.2570.586

0.237

0.170
0.311

Phone: (818) 985-8208  Fax: (818) 985-7708
11115 Vanowen Street, North Hollywood,CA 91605

FPE04-6U PANEL WILL HAVE TWO CENTER HOLES FOR OPTIONAL 3U 'L' BRACKETS.
ORDER FPE04-6UB FOR PANEL WITHOUT THE CENTER HOLES.


	Sheet1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View11


